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Divisibility Crosswords Puzzle
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Across

1

A number is divisible by this number if the
last number is 0.

A number is divisible by this number if the
last digit is O or 5.

A number is divisible by this number if the
sum of the last three numbers is also
divisible by 8.

A number is divisible by this number if the
sum of the last two digits is divisible by 4.

Possible Answers:
Eight, Five, Four, Nine, Six, Ten, Three, Two

Down

1

A number is divisible by this number if the
sum of the digits is divisible by 3.

A number is divisible by this number if the
sum of the digits is divisible by 9.

A number is divisible by this number if the
number is divisible by 2 and 3.

A number is divisible by this number if the
last digitis 0, 2, 4, 6, 8.



